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* 3 XF DR

3 DD FnEEAT

ZD3DDXLFDED 2 DD F e AN ZTHMENED 60z

z0 33XF 0 NP vus,

r<iz 20 3XFoM ¥ 2 XFEoMoM v # 2 AN s,

Thbt f(r,y,z)z2reyrzizBdsAeLT

f(x,y,2) = f(z,2,9)=fy, z, 2)

=fy,z,2)=f(zz,y)=f(z vy, 1)

ko orx f(r,y,z) 2xryszolFRE s,

vz rtytzraytyztzr e xyz 2 AN L v,

f(x,y, z) =22+ y?+ 22
IZ2OWT
A+ 2=+t =i+l 2 =i+ 22t =2 iyt = 224yl + 2
ERAYPX5)
flx,y,2)=f(x,z,x)=fy.x,2) = fly,z, x) = f(z, z,9) = f(z, 9y, x)
NI AIRVASR
D2FD 2+ i+ 3y zONMRTHB.

* 3 XFORImADOME
3 XFoNHA 13 HANRAZ Tk zenoxs.
Thbt Ty zo AR X

r+y+z g zytyz+zr 2723 xyz FIITRT I eNTE S,

x2+y2+z2=(x+y+z)2—2(xy+yz+zx)

x3+y3—|—z3=(x—l—y+z)3—3(x+y+z)(xy+yz+zx)+3xyz

Wreylrzo3XFEOMNMRL, 2z 2EHET S (EREAB) L, T L yD2 XFOMNH
Newb.

P | r4+y+z=3, zytyztzr=10tx, ROM%ERD k.
2+ y? + 72

@2+ +2=(r+y+2?—2zytyztzz)=3—2-1=4
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* 2 XF DA
2OV FDEEA
Z0220XFr ANEZC (D) HBLErE b SR VWR%

Ezf:h\‘b%’
7202 XFD AR 2.

+xhbt f(r,y) 2x eyl sAeL<
flx,y)=—f(y, x)
Bouors f(r,y) zxryo AR rws.

flx, ) =2"—y°
IZDOWT
-y =—(PF—12°) $hbs f(r,y)=—f(y 1)
NI ARVASR
D2F0 -y lrr iy dRRATHB.
flx,y)=2—ypytnwitr=y 33 f(r,x)=2—2>=021%3%.
ZDESIZ f(x,y) Tax=y LT f(x,x) =0 BWEIZHEO 26 f(x, y) 1
RRATZ LT E 5.

* 2 XFORRADOME
2XFoRRA 1k Q20X FDE)XCIHR) ¢RI ehcxs,
bt x ey oRXRAE (r—y) X CEHR) oksizRTzehces.
¥ r e yoRMRXz22Fs2 xry oA 12hs.

-y = (- +zy+y?)
SRR P -y 2 2F LA (B3 —y3)?2 IR TH 3.
r—y FEASKRRL ZVEVE, EHEINTHA.

P8 r+y=2 zy=—-10rE, MOME%ERD L.
r—y

® z—yl=G@+yl—day=22—4-(—-1)=38
koT x—y=+2/2
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